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1 |deninu #DIV/0! #DIV/0! #DIV/0!
2 |dsen #DIV/0! #DIV/0! H#DIV/0!
3 |unfey #DIV/0! #DIV/0! #DIV/0!
4 |uwily #DIV/0! #DIV/0! #DIV/0!
5 |den #DIV/0! #DIV/0! H#DIV/0!
6 |t #DIV/0! #DIV/0! #DIV/0!
7 |@enana 68 9 0 1 8 0 0 0 #DIV/0! 0 0 #DIV/0! 59 20 39 0 0 20 100.00% 39
8 |yadne #DIV/O! #DIV/0! #DIV/0!
9 |infumsuesd #DIV/O! #DIV/0! #DIV/0!
10 |dainde #DIV/O! #DIV/0! #DIV/0!
11 |deswan #DIV/O! #DIV/0! #DIV/0!
12 |uaiedu #DIV/O! #DIV/0! #DIV/0!
13 |dufiqu #DIV/O! #DIV/0! #DIV/0!
14 |duman #DIV/O! #DIV/0! #DIV/0!
15 |quiles #DIV/O! #DIV/0! #DIV/0!
16 |i3ea #DIV/O! #DIV/0! #DIV/0!
17 ey #DIV/O! #DIV/0! #DIV/0!
18 [t #DIV/O! #DIV/0! #DIV/0!
19 sy #DIV/O! #DIV/0! #DIV/0!
20 |ow #DIV/O! #DIV/0! #DIV/0!
23230 #DIV/O! #DIV/0! #DIV/0!
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1) = (2+(13)

(2) = G)+(@)+(5)+(6)+(7)

®) asiiswiavwiniuvdelndifes (3)+(6) Wunniiga

(9) = 8)/[ (3)+(6) 1 * 100

(10) aasfisuaudawinduvelndides (3)+(6) Wunitgn

(12) = (11)/(10) * 100

(13) = (14)+(15)+(16)+(17)

(19) = (18)/[ (14)+(16) 1 * 100

(20) = (13) - (18)




